F-01-02

Product Environmental Aspects Declaration At
PCR AP-04 No.AP-09-062
2009 8 21

RwerShot SX200 /S

DIGITAL CAMERA

1,210
5.0-60.0mm 35mm 28-336mm /F3.4-5.3
SD SDHC
ca“o“ MMCplus HC MMCplus
http://canon _j p 103.0><60.5><37.6mm
2209
NB-5L
TEL 03-3758-2111 () HD  HDM
Email eco@web.canon.co.jp 12
AV / Canon Digital Camera Solution Disk
5.01kg
€0 (5.00kg)
9.69g
S0 (9.579)
87.5MJ
(87.4MJ)
0
CO, kg
= |
8
6
4.59
4 -
2
032 0.00 0.07 0.02
0 L —/ L L
-0.01
-2
1.
2.
CIPA
3.
(PEIDS)
(PSC) http://www.jemai.or.jp
15014001
PCR 2008 1 1
1ISO14025:2006 [ - )

ecoleaf@jemai.or.jp

*




B (PEIDS)
Product Environmental Information Data Sheet PEIDS

F-02B-02 V2.1
Va1 HRREREE
AP-09-062 g jemaiorip
Power Shot SX200 IS

PCR-N AP-04 [kq] 0.22 | kg | 0.37 | [ka] | 0.60
MJ 7.95E+01 6.19E+00 6.55E-02 1.51E+00 2.65E-01 -8.16E-02
Mcal 1.90E+01 1.48E+00 1.56E-02 3.60E-01 6.32E-02 -1.95E-02
kg 4.78E-01 3.86E-02 1.53E-07 8.71E-03 1.29E-03 -5.83E-04
) kg 8.75E-01 4.43E-02 1.43E-03 9.91E-03 3.37E-03 -7.03E-04
LNG kg 1.73E-01 2.56E-02 2.21E-05 4.36E-03 6.74E-04 -2.92E-04
) kg 1.93E-05 2.61E-06 1.04E-11 5.90E-07 8.70E-08 -3.94E-08

() kg 1.83E-01 0 0 0 0 0

(Fe) kg 5.02E-02 0 0 0 0 0

(Cu) kg 2.45E-02 0 0 0 0 0

(A)) kg 2.40E-02 0 0 0 0 0

(Ni) kg 3.78E-03 0 0 0 0 0

(Cn kg 5.13E-03 0 0 0 0 0

(Mn) kg 2.50E-02 0 0 0 0 0

(Pb) kg 3.80E-03 0 0 0 0 0

(Sn) kg 0 0 0 0 0 0

(zn) kg 3.74E-02 0 0 0 0 0

(Au) kg 0 0 0 0 0 0

(A9) kg 0 0 0 0 0 0

kg 3.20E-02 0 0 0 0 0

kg 2.19E-01 0 0 8.08E-06 3.38E-04 0
kg 3.37E-02 0 0 1.16E-03 1.08E-03 -9.50E-04

soda ash kg 2.68E-03 0 0 0 0 0

wood kg 2.37E-01 0 0 0 0 0
water kg 5.02E+02 2.92E+01 1.13E-04 6.67E+00 1.04E+00 -5.03E-01
co2 kg 4.48E+00 3.18E-01 4.62E-03 6.84E-02 1.68E-02 -5.08E-03
SOx kg 4.47E-03 2.29E-04 5.68E-06 1.10E-04 6.92E-05 -5.17E-05
NOX kg 6.24E-03 2.08E-04 7.15E-05 1.56E-04 1.93E-04 -9.72E-05
N20 kg 4.07E-04 2.48E-05 8.34E-08 7.81E-07 4.71E-07 -8.15E-08
CH4 kg 5.09E-05 6.98E-06 277E-11 1.58E-06 2.33E-07 -1.05E-07
co kg 8.37E-04 4.74E-05 2.82E-05 2.64E-05 4.80E-05 -1.41E-05
NMVOC kg 9.94E-05 1.37E-05 5.43E-11 3.09E-06 4.56E-07 -2.06E-07
CxHy kg 1.73E-04 4.18E-06 1.43E-06 1.87E-07 1.75E-06 -3.08E-08
dust kg 6.24E-04 9.86E-06 5.67E-06 8.31E-06 1.23E-05 -5.16E-06

BOD kg - - - - - -

COD kg - - - - - -

N kg - - - - - -

P kg - - - - - -

58} kg - - - - - -
kg 3.03E-02 0 0 1.01E-02 4.23E-01 -1.71E-06

kg 1.35E-01 0 0 0 0 0

kg 5.15E-02 0 0 0 0 0
kg 1.35E-05 1.82E-06 7.27E-12 4.11E-07 6.08E-08 -2.75E-08
kg 1.55E+00 1.21E-01 1.46E-03 2.56E-02 5.72E-03 -1.75E-03

kg 1.49E+01 0 0 0 0 0
(coz ) kg 4.59E+00 3.25E-01 4.64E-03 6.86E-02 1.69E-02 -5.10E-03
(02 ) kg 8.83E-03 3.75E-04 5.57E-05 2.20E-04 2.04E-04 -1.20E-04

( )
( ) )
)
Cco2
( )
0 ( )
.
100km

CIPA

60km 4t 62%




F-03-02
RRRERE
AP—09—062 http://www jemai.or.jp
PCR-NO AP-04) Power Shot SX200 IS
1 I Ikg] 022 kol | o037 | kal [ o060
[kg] [ka] [kg] [kg]
8.91E-03 1.04E-01 4.23E-02 3.35E-01
9.62E-03 1.71E-04 3.76E-02
2.39E-02 5.57E-02 2.42E-01
2.27E-02 2.41E-02 1.54E-02
5.58E-02 7.48E-02
1.55E-02
2.00E-01
3.37E-01 2.59E-01
5.96E-01 3.37E-01 3.35E-01
SOx NOx S02 NO2 kg
(kWh) LNG(m?3)
2.62E-01 7.98E-03
( )
10t
kg km
5.96E+01
kg
|
(kWh)
1.49E-01 1.01E-03 1.01E-02 9.10E-02
kg
4t kg km
4.15E-01 4.23E-01 8.53E-02 4.84E+01




